King Fahd University of Petroleum & Alinerals DEPARTMENT OF CIVIL & ENVIRONMENTAL ENGINEERING

Name:

CE 203 STRUCTURAL MECHANICS I (Section 2)

Second Semester 1435 / 2014 (132)

Quiz # 12

Score

Ĩ	ID #:			10
$= \pm F_x / A_x$ $= \pm M_z y / I_z$ $= \pm M_y z / I_y$ $= \frac{Tr}{J} \qquad \tau = \frac{VQ}{Ib}$ $= \frac{\pi}{2} r^4 \qquad J = \frac{\pi}{2} (r_{out}^4 - r_{in}^4)$ $= \frac{\pi}{4} r^4 \qquad I = \frac{\pi}{4} (r_{out}^4 - r_{in}^4)$ $= \frac{\pi}{4} r^4 \qquad I = \frac{\pi}{4} (r_{out}^4 - r_{in}^4)$ $= \frac{\pi}{4} r^4 \qquad I = \frac{\pi}{4} (r_{out}^4 - r_{in}^4)$				
$= \pm M_{y} z / I_{y}$ $= \frac{Tr}{J} \qquad \tau = \frac{VQ}{Ib}$ $= \frac{\pi}{2} r^{4} \qquad J = \frac{\pi}{2} (r_{out}^{4} - r_{in}^{4})$ $= \frac{\pi}{4} r^{4} \qquad I = \frac{\pi}{4} (r_{out}^{4} - r_{in}^{4})$ $= \frac{\pi}{4} r^{4} \qquad I = \frac{\pi}{4} (r_{out}^{4} - r_{in}^{4})$ $= \frac{\pi}{4} r^{4} \qquad I = \frac{\pi}{4} (r_{out}^{4} - r_{in}^{4})$ $= \frac{\pi}{4} r^{4} \qquad I = \frac{\pi}{4} (r_{out}^{4} - r_{in}^{4})$	$= \pm F_x / A_x$		z,	
$= \pm M_{y} z / I_{y}$ $= \frac{Tr}{J} \qquad \tau = \frac{VQ}{Ib}$ $= \frac{\pi}{2} r^{4} \qquad J = \frac{\pi}{2} (r_{out}^{4} - r_{in}^{4})$ $= \frac{\pi}{4} r^{4} \qquad I = \frac{\pi}{4} (r_{out}^{4} - r_{in}^{4})$ 2.5 kN $= \frac{\pi}{4} r^{4} \qquad I = \frac{\pi}{4} (r_{out}^{4} - r_{in}^{4})$	$= \pm M_z y / I_z$	OR SIMILAR FOR		
$= \frac{\text{Tr}}{\text{J}} \qquad \tau = \frac{VQ}{Ib}$ $= \frac{\pi}{2} r^{4} \qquad \text{J} = \frac{\pi}{2} (r_{\text{out}}^{4} - r_{\text{in}}^{4})$ $= \frac{\pi}{4} r^{4} \qquad \text{I} = \frac{\pi}{4} (r_{\text{out}}^{4} - r_{\text{in}}^{4})$ 2.5 kN $\frac{r}{\sqrt{y}} = \frac{4r/3\pi}{\sigma}$	= + M. 7 / L	DIFFERENT AXES	B	
$=\frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$			A	200 mm
$=\frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$	$-\frac{\mathrm{Tr}}{}$ $\tau = -\frac{1}{2}$	VQ	X A	
$=\frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} r^4 \qquad \mathbf$	$-\frac{1}{J}$	Ib	21-11	
$=\frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$ $= \frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4} \left(\mathbf{r}_{\text{out}}^4 - \mathbf{r}_{\text{in}}^4 \right)$	$=\frac{\pi}{2}r^4$ $J=\frac{\pi}{2}$	$(\mathbf{r}_{\mathrm{out}}^4 - \mathbf{r}_{\mathrm{in}}^4)$	3 KIN	
$\frac{4 \text{ kN}}{r} = \frac{c}{\bar{y}} = 4r/3\pi$				300 mm
$\frac{4 \text{ kN}}{r} = \frac{c}{\bar{y}} = 4r/3\pi$	$=\frac{\pi}{4} r^4 \qquad \mathbf{I} = \frac{\pi}{4}$	$(\mathbf{r}_{\mathrm{out}}^4 - \mathbf{r}_{\mathrm{in}}^4)$	2.5 kN	
r C $\overline{y} = 4r/3\pi$	4 -		110	J
$\overline{y} = 4r/3\pi$			7 1.1	
$\overline{y} = 4r/3\pi$				
$\overline{y} = 4r/3\pi$				
			**************************************	$C \overline{\overline{v} = 4r/3\pi}$
				J